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1. BEFHRA

(DHASEIA 0 0 0
(2)EBIRA 32,228 32,415 A 187
FEXFEELSESERA 22218 22,292 A 74
FABESESEIA 1,957 1,960 A3
BAlEESEIRA 225 219 6

B EEEEESERA 7,828 7,944 A 116
(3)FEFULA 11,747 11,206 541
RAEMESZEINA 3,147 3,147 0
ITERKESEMERSUILA 1,860 1,860 0
MERKSIIA 1,287 1,287 0
HEREZILA 6,767 6,759 8
LEFIRA 3,154 3,079 75
HEpEMULA 3,613 3,680 A 67
EREEFZEIA 1,789 1,257 532
ERAEAEETEIA 1,789 1,257 532
REHBHFFEEIA 44 43 1
(4) EBRESSmMEIA 205 205 0
SETHIRAG 44,180 43,826 354

2. EEFEFHRH

(EXEXH 34,321 34,049 272
EEAGESERH 25,225 24,953 272
DOAEERH 19,434 19,200 234
HERMH 4895 4,944 A 49
HBHEFLZH 11,457 11,207 250
BAELAEXH 3,082 3,049 33
QEHEXZH 5,791 5,753 38
REXEEXH 122 122 0
BIEEREZH 315 315 0
HELESD 226 226 0
FIRISARE X H 165 165 0
KEKEZ 293 293 0
Bl (EHFELERH) 3,591 3,591 0
EfHZH 136 136 0
EHEXH 396 396 0
NFENEXH 254 216 38
FEREERH 7 7 0

i dan 286 286 0
ii)—HREEETWN 8,841 8,841 0
REARERH 4,818 4818 0
FEREXL 106 106 0
TERAKEEERREXRXESTH 3,486 3,486 0
MERFTSZH 842 842 0
ZTOMRAEMEESRH 384 384 0
HEREEEZH 3,952 3,952 0
FEESXH 741 741 0
HhiRE 3,211 3,211 0
ERESEETH 71 71 0
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i TEAKESEERMNEFETH 255 255 0
TERAKESEERMERERL 255 255 0
(2)EEEXH 8,971 8,889 82
i) REEESTT 8,133 8,051 82
ODAEEZH 6,094 6,024 70
A=kl bdan 1,462 1477 A 15
HAEFLTH 3,655 3,580 75
EAELEELH 977 967 10
QFE#EX L 2,039 2,027 12
REXBEZH 38 38 0
BEERERH 100 100 0
HELEXWN 72 72 0
RIS AR E X H 52 52 0
KEBKEZH 92 92 0
EfHIH (EHmELEXRH) 1,136 1,136 0
ERMEH 43 43 0
EEikoas 125 125 0
NHAAEREZHECGEATREEZSD) 150 138 12
FEREZEESH 3 3 0
SEEXH 138 138 0
MEH 90 90 0
i) EHRSERH 838 838 0
EHRESERH 838 838 0
EEEHTEE 43,292 42,938 354
EETHIRZEZ(A) 888 888 0
I EESINETDER
1. REFHIRA
(1)EBBHAT5I LHFESERERIRA 0 0 0
BREFRHIRAG 0 0 0
2. BREFREXH
(1) :ERAT5 I S EEMEXE 888 888 0
BERSZHET 888 888 0
BEEEFINEZZEEE(B) A 888 A 888 0
I EA 7RI D EB
1. BAIEESIRA
B EEIRAGT 0 0 0
2. BAFEEEIRH
MRS AT 0 0 0
AR EEIRZ EEE (C) 0 0 0
V¥ig&EXH
FlEEZH (D) 0 0 0
V LHAN S =28 (E) ((A) +(B)+(C)— (D)) 0 0 0
VIRTHR#ERUR T =28 (F) 0 0 0
VIR ERf8 R 32 Z 28 (E) + (F) 0 0 0
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